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(@  Find e (™) 2 (€  f(x)=x*—6x forall real x. 8
() Explain why f(x),for x23, hasan inverse function f7'(x)
V2

() Showthat [-—i gy = T

al J i dx 77 ) 3 (ii) State the domain and range of ™ (x).

.' (i) By completing the square or otherwise, find ).

(© (@ The graph below is y=tos 28—~ ' 5 (iv) Find the co-ordinates of the point where f(x) and f “(x) meet.

- Write down the co-ordinates of A and B,

4 \T

(i) State the domain and range of y= ;2sin'"'(1—4x)




Question 2 (17 marks) : Marks
3 12
(@)  Find the term that is independent of y in (;;+ yj 4
® (D Given (1+2x)° show that I—(/]ﬂ 10-r x2 5
r

r

(NB. You must derive this result. DO NOT quote a formula.)

(i) Hence or otherwise show that the greatest coefficient in the expansion of

(1+2x)°is 5376.
(© () Write out the expansion of (1+x)* ' 4
) 2n
(i) Hence show that Z MC, =4"
k=0
(d  The co-efficient of x" in the expansion of (1+ax+x?)(2+x)" 4

is 81. Find the value of 4.
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